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���� �� ��	������

������ A,B ���� 	����
 �� 	��� �� C �� 	���� �� 
�
���� [AB]�
������ C1, C2 �� C ��
 �����������
 
����
 ���
 �� ���� �����	��� �������� 	�� �� ������ (AB) �� �� ��������

��
	�����
 [AC], [CB] �� [AB]� �� ���� O1, O2 �� O ����
 ������
� a, b �� a + b ����
 �����
 ��
	�����
�

��������
� �
� �� 	����� �� 	��� ������ 	�� ��
 �����������
 C, C1 �� C2�

A C BO1 O O2

C

C1

C2

���
 �� 
���� �� ����� ����� �� 
�		�
��� a � b�

��������� ��	� 
 ���� D �� ����� �	����
������� �
 �������
��� C ���� �� ��
������
���
� � (AB) �������
��
 C� �� � �

AC = 2a BC = 2b AD = 2
√

a(a + b) BD = 2
√

b(a + b) CD = 2
√

ab

A C B

D

����
�������

�� �
� ����� ��� AC = 2a �� BC = 2b�

��
 �����
��
 ACD �� DCB ������
��
 �� C ����� 
��������
� �� �  
CD

AC
=

BC

CD
�

����  CD2 = AC × BC = 4ab�
���!  CD = 2

√
ab�

"�� �		�������� �� �#������ �� "��#�
��� �� �����
�� ACD ������
�� �� C� �� �  

AD2 = AC2 + CD2 = 4a2 + 4ab = 4a(a + b)

���!  AD = 2
√

a(a + b)�
�� ����� 	�� �		�������� �� �#������ �� "��#�
��� �� �����
�� BCD ������
�� �� C� �� �  

BD2 = BC2 + CD2 = 4b2 + 4ab = 4b(a + b)

���!  BD = 2
√

b(a + b)�
��������

������ �������	����
 ��� � 
��������
 ������� ������	������ �� ���� � ��	����� �� ���������� ������	��� ����	��� 	�����
�	���� ��������� �� ����� � �����	����� ����� � !
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��������� ��� ������� 
 �	��
� �� �	�
����� ��� ����� � A = πab�

����
�������


�� �  A =
π(a + b)2

2
− πa2

2
− πb2

2
= πab�

��������

����������
 ���� 
 �� ����
� �� ������
� [CD] � �� ���� ��
� �
� �	�
������
����
�������

������� ��  "�� �� ������ ������� ������ �� ��
��� �� �������� [CD] �
� �
��� %  

π

(
CD

2

)2

= πab = A

������� !�  & '�
��������� (� �� �  

A BC

D

A

A BC

D

A′

A

A1

A2

B1

B2

A + A1 + A2 = B1 + B2

A1

B1

A′
1

B1 = A1 + A′
1

A2

B2

A′
2

B2 = A2 + A′
2
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����  A + A1 + A2 = A1 + A′
1 + A2 + A′

2�
����  A = A′

1 + A′
2 = A′�

��������

����������
 ���� 
 ������ M �� N ��� ������ �	����
������� ��� �������� [AD] �� [BD] ���� C1 �� C2


�������������� "��
� �
• �� �
��
�����
� MCND ��� 
� 
��������
• �� �
���� (MN) ��� �������� � C1 �� C2�

O1 O2A C B

D

M

N

����
�������

��
 ��
��
 ÂMC, ĈNB �� ÂDB 
��� �����
 * ����� ����
 ��
��
 �����
� �� ������������ MCND �
� ���� ��
������
���
���� I �� 	���� �������
������ ��
 ���
�����
 �� ������
��� ��
 �����
��
 MO1C �� CIM ����� �
�����
 �� O1

�� I ��
	����+������ �� �  

Ô1MC = M̂CO1 �� ĈMI = ÎCM

�� +����  

Ô1MI = Ô1MC + ĈMI = M̂CO1 + ÎCM = ÎCO1 =
π

2

,��
� �� ������ (MN) �
� ���
���� % C1 �� M �
�� 	���+����� �� ���� ��� (MN) �
� ���
���� % C2 �� N �

��������

����������
 ���� 
 ���� [UV ] �� ��
�� �� C ��
���� [MN ]� "��
� U �� V ����
�������� �
 ��
��� �� ����
�
D ������� ��
 C�

C

C1

C2

O1 O2OA C B

D

M

N

U

V

����
�������

���� i ����+��
��� �� 	-�� D �� �� 	��

���� CD2�
.���� DM ×DA = DC2 �� DN ×DB = DC2� M �� N 
��� ��
 ��+��
�
 ��
	�����
 �� A �� B 	�� i� �� ��
������ ��� �� ������ (MN) �
� ����+��
� �� ������ C�
��
 	����
 U �� V �		���������� % C �� (MN)� ��
 
��� ���� ��+������
 	�� i * ���!  DU = DV = DC�

��������

��� ������� ������

���

���	 ������� �������  !���"��# �

����������
 ���	� 
 ������ C′
1 �� ��
��� ������� � C, C1 �� (CD)# C′

2 �� ��
��� ������� � C, C2 �� (CD)�

��� ��
���� C′
1 �� C′

2 ��� �� ���� 
�$�� R ���� R =
ab

a + b
�
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A C B

D

O1 O O2

C′
1

O′
1

C′
2

O′
2

����
�������

������ O′

1 �� ������ �� ������ C′
1� H1 
�� 	��0��� ���#�
���� 
�� �� ������ (AB) �� R �� ����� �� ������ C′

1�
%
����
� �������
������  "�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 O1H1O

′
1 �� OH1O

′
1

������
��
 �� H1� �� �  

O′
1H

2
1 = O′

1O
2
1 − H1O

2
1 = O′

1O
2 − H1O

2


���  

(a + R)2 − (a − R)2 = (a + b − R)2 − (a − b − R)2

�� +����  R =
ab

a + b
�

&�
'���� �������
������ ���
 �� �����
�� O1H1O
′
1 ������
�� �� H1� �� �  

cos
(
Ĥ1O1O′

1

)
=

O1H

O1O′
1

=
a − R

a + R

�� ������� ��,��1�
#� �		����� �� �����
�� O1OO′
1 �����  

O′
1O

2 = OO2
1 + O′

1O
2
1 − 2 · OO1 · O′

1O1 cos
(
Ĥ1O1O′

1

)

���  

(a + b − R)2 = b2 + (a + R)2 − 2b(a + R) · a − R

a + R

�� +����  R =
ab

a + b
�

(
������� �������
������  .�����2��
 	�� �� �����  

$���� ����� 
 ������ C1 �� C2 ��
' ��
���� �� ����
�� O1 �� O2# �� ������
�� [A1B1] �� [A2B2] ��
��������
�� �
����� ��� ��
���� �������� �� �� ����� I�
"��
� ��� ������ I,A1, A2 �� I,B1, B2 ���� ��������

O1 O2

C1

C2

A1

A2

B1

B2

I
O1

O2

C1

C2

A1

A2

B1

B2

I

����
�������

��		�
��
 IO1 � IO2�
3����� % ���
������ �� 
��������� �� ���� ��
 ���� ������
 	�� ��		��� % I� �� 	��� �
������� 
�		�
�� C2

���
��� �������������� % C1�
���� J ∈ (A1B1) ��� ��� (A2J) �� (O1O2) 
��� 	��������
� �� ������������ O1JA2O2 �
� ���� �� 	���������

������
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�� �  O1J = O2A2 = O2I�
"�� �������
� O1A1 = O1I�
,��
�  JA1 = O1A1 − O1J = O1I − O2I = O1O2 = IJ �
���� ��
 �����
��
 JA1A2 �� O2A2I 
��� �
�����
 �� J �� O2 ��
	����+������ ����
 ��
��
 �� 
����� �����
���� ��
���� �� �� �
� �� ���� �� ����
 ��
��
 % �� ��
�  

Â2A1J = ÎA2O2

��
 ��
��
 �������
��������
 Â1JA2 �� Ô2A2J ����� �� ���� ��
���� �� +����  

ÎA2A1 = ÎA2O2 + Ô2A2A1 = Â2A1J + Ô2A2A1 = π

5���������� ��
 	����
 I,A1 �� A2 
��� ���
��
�
�� 	���+����� �� ���� �����
������ �� I,B1 �� B2�

��������

������ E,F �� G ��
 	����
 �� ���
���� �� C′
1 �+�� (CD), C1 �� C ��
	����+������

���� H ∈ C′
1 ��� ��� [EH] 
��� �� �������� �� C′

1� 6����
 ��� (EH) �� (AB) 
��� 	��������
�
���	��
 �� ����� ���$� �� � �����
������ ��
 ���	���
 �� 	����
 
��+���
  

(A,F,H) (B,E, F ) (A,E,G) (C,G,H)

�� ���
����� ��
 	����
 �������
������ 
��+���
  

I = (AE) ∩ C J = (AF ) ∩ (CD)

A C B

D

O1 O O2

J

I

H

F

G

E

E �
� �����#������� �� �����
�� ABJ �� 
���� ��� ��
 ������
 (AE) �� (BJ) 
��� 	��	�����������
�
"�� �������
� ����� ��
 ������
 (AE) �� (BI) 
��� 	��	�����������
� �� �� ������ �����
������ ��
 	����
 B, I
�� J �
��
 ������
 (CH) �� (BJ) ����� 	��������
� �� �� ���	��
 �� �#������ �� 7#���
  

AB

BC
=

AJ

HJ
=

AC

EH

����  EH =
AC × BC

AB
=

2ab

a + b
�

�� �� ������ ��� �� ����� �� ������ C′
1 �
� �
�� %

EH

2
= R�

)
��
���� �������
������  ������ i ����+��
��� �� 	-�� A �� �� 	��

���� AC2� B′ ����+��
� �� B�
����+��
� �� C1 �
� �� 	��	����������� % (AB) 	�

��� 	�� C� ��������� ��� (CD) * ����+��
� �� C �
� ��
	��	����������� dB′ % (AB) 	�

��� 	�� B′�

A C B

D

O1 O O2

C′
1

O′
1

dB′

B′
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,��
�� ����+��
� i(C′
1) �� C′

1 �
� �� ������ ���
��� % C1, (CD) �� d� ���� � 	��� �����
CB′

2
�

��� �� �  

CB′ = AC2 · CB

AC × AB
= (2a)2 · 2b

2a × 2(a + b)
=

2ab

a + b

,��
� i(C′
1) � 	��� ����� R�

6����
 O′
1i �� ������ �� i(C′

1) �� HO′
1i


�� 	��0��� ���#�
���� 
�� (AB)� �� 	��

���� �� A 	�� ��		��� ��
������ i(C′

1) �
� �
��� %  

O′
1iA

2 − R2 = AH2
O′

1i
+ O′

1iH
2
O′

1i
− R2

= AH2
O′

1i
+ O′

1iO
2
1 − O1H

2
O′

1i
− R2

= (2a − R)2 + (a − R)2 − (a − R)2 − R2

= 4a2

= AC2

�� �� ������ ��� �� ������ i(C′
1) �
� ��+������ 	�� i  C′

1 = i(C′
1) � ���� 	��� ����� R�

.���� ��	��

��� �� R ����� 
��������� �� a �� b� �� �� ������ ��� �� ������ C′
2 � �
������� 	��� ����� R�

��������

��
��������
  �� ������� �������
���� P1 9��
	� P2: �� 	���� �������
������ �� C1 9��
	� C2: �+�� �� 	��	����������� % (AB) 	�

��� 	�� O1 9��
	�
O2:�

�� 	���� �������
������ K ��
 ������
 (O1P2) �� (O2P1) +���;� CK =
ab

a + b
���	��
 �� �#������ �� 7#���
�

������ H1 ∈ [OO1] �� H2 ∈ [OO2] ��
 	����
 �������
������ �� ������ �� ������ C 	�

��� 	�� K �+�� �� ������
(AB)�
,���
 O′

1 9��
	� O′
2: �
� �� 	���� �������
������ �� ������ �� ������ O1 9��
	� O2: 	�

��� 	�� H2 9��
	� H1: ��

�� �� 	��	����������� % (AB) 	�

��� 	�� H1 9��
	� H2:�

A C B

D

O1 O O2

C′
1

O′
1

C′
2

O′
2

K

P1

P2

H1 H2

����������
 ����� 
 �� ��
� ����� ��
��� ��������� ��� ��
���� *
���
' � 
� ������
� ���� � 2
√

ab�

A C B

D

O1 O O2

C′
1

O′
1

C′
2

O′
2

����
�������


<� ��	������ �� �����
������� �� �� 	��	�
����� ���=� �� ��
����� �� O′
1 9��
	� O′

2: % (AB) �
� �
��� % 2a

√
b

a + b

9��
	� 2b

√
a

a + b
:�



��� ����� �� ��	
����
 >

����� 	�� �		�������� �� �#������ �� "��#�
���� �� �  

O′
1O

′
2 =

√√√√(2R)2 +

(
2a

√
b

a + b
− 2b

√
a

a + b

)2

=

√
4a2b2

(a + b)2
+ 4

(a
√

b − b
√

a)2

a + b

=

√√√√4ab

(
ab

(a + b)2
− 2

√
ab

a + b
+ 1

)

=

√√√√4ab

(
1 −

√
ab

a + b

)2

= 2
√

ab

(
1 −

√
ab

a + b

)

�� �������� �� 	��
 	���� ������ ��������� C′
1 �� C′

2 �
� ����
 �
�� % O′
1O

′
2 + 2R = 2

√
ab�

��������

���� �!������ �������  !���"��# �

����������
 ��������  � ���
�% ��&�� ' 	(()� ����� 
 ������ C′
3 �� C′

4 +
���� C′
5 �� C′

6, ��� ��
����
�������� � (OP1) �� P1 +
���� � (OP2) �� P2, �� � C�
��� ��
���� C′

3, C′
4, C′

5 �� C′
6 ��� �� ���� 
�$�� ���� � R�

C

A C BO1 O O2

P1

P2

C′
3

O′
3

C′
4O′

4

C′
5 O′

5

C′
6

O′
6

����
�������

������ H3 �� 	��0������ ���#�
����� �� ������ O′

3 �� ������ C′
3 �� ρ �� ����� �� ������ C′

3�
"�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 OP1O

′
3 �� OP1O1 ������
��
 �� P1 �� O1� �� �  

O′
3O

2 = O′
3P

2
1 + P1O

2 = O′
3P

2
1 + P1O

2
1 + OO2

1


���  

(a + b − ρ)2 = ρ2 + a2 + b2

�� +���� ρ =
ab

a + b
= R�

�� ������ �
� �����
�� 	��� ��
 ������
 C′
4, C′

5, C′
6 �� ������� �� ���� ��
������

��������

����������
 ����� 
 ������ P �� ����� �	����
������� �� C ���� �� ��
������
���
� � (AB) ������� ��
 O#
E �� F ��� ������ �	����
������� �� (P1P2) ���� (OP ) �� (CD) 
��������������
������ C′

7 �� ��
��� �� ������
� [EP ] �� C′
8 �� ��
� ����� ��
��� ������� ��
 F �� ������� � C �� G�

��� ��
���� C′
7 �� C′

8 ��� �� ���� 
�$�� ���� � R�
%�
 �����

�# ��� ������ P, P1, P2, O,C �� G ���� ���$����
���
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A C B

D

O1 O O2

C
C1

C2

P1

P2

C′
7

O′
7

C′
8

O′
8

P

E
F

G

����
�������

.�������
 ������ �� ���	�@� O1O2P2P1 �� ���� �������
  

A(O1O2P2P1) = A(O1OEP1) + A(OO2P2E)


���  

O1O2 ×
O1P1 + O2P2

2
= O1O × O1P1 + OE

2
+ OO2 ×

OE + O2P2

2
(a + b)2

2
=

b

2
(OE + a) +

a

2
(OE + b)

���!  OE =
a2 + b2

a + b
�

�� +����  EP = OP − OE = a + b − a2 + b2

a + b
=

2ab

a + b
�

�� �� ������ ��� �� ����� �� ������ C′
7 �
� �
�� %

EP

2
= R�

.�������
 �� ���+��� ������ �� ���	�@� O1O2P2P1 �� ���� �������
  

A(O1O2P2P1) = A(O1CFP1) + A(CO2P2F )


���  

O1O2 ×
O1P1 + O2P2

2
= O1C × O1P1 + CF

2
+ CO2 ×

CF + O2P2

2
(a + b)2

2
=

a

2
(CF + a) +

b

2
(CF + b)

���!  CF =
2ab

a + b
�

"�� �		�������� �� �#������ �� "��#�
��� �� �����
�� OCF ������
�� �� C� �� �  

OF 2 = OC2 + CF 2 = (a − b)2 +
4a2b2

(a + b)2
=

(
a2 + b2

a + b

)2

���!  OF =
a2 + b2

a + b
�

�� +����  FG = OG − OF = a + b − a2 + b2

a + b
=

2ab

a + b
�

�� �� ������ ��� �� ����� �� ������ C′
8 �
� �
�� %

FG

2
= R�

A������
 ��;� ��� ��
 	����
 P, P1, P2, O,C �� G 
��� ����������
�
�� �����
�� COP ����� ������
�� �� O� ��
 	����
 O,C �� P �		���������� �� ������ �� �������� [CP ]�
"�� �		�������� �� �#������ �� "��#�
��� �� �����
�� OCP ������
�� �� O� �� �������  CP =

√
2(a2 + b2)�

6����
 J �� ������ �� �������

"���� �������
������ ��
 ����������
 �� [OP ] �� [OC]� J �
� �� ������ �� 
�
���� [EF ] ���
OE + CF

2
=

a + b

2
�

"�� �������
� J �
� �
������� �� ������ �� 
�
���� [P1P2] * ����� P1P2 =
√

2(a2 + b2) 9	�� �		�������� ��
�#������ �� "��#�
���:� �� 
���
��� ��� P1 �� P2 �		���������� ��

� �� �������
<�;�� ���
������
 �� 
������� ����� (OJ)� E ����� 	��� ���
� F 	�� s(OJ)� �� ������ (OP ) � 	��� ���
�
(OF )� "�� 
����� ����� OP = OG� �� ����� [OP ] � 	��� ���
� �� ����� [OG] * ��������� ���� G �		�������
�� �������

��������



��� ����� �� ��	
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 B

����������
 ���*� 
 ������ C′
9 �� C′

10 ��� ��
� ������ ��
���� �������� � (CD) �� ������� ��
 M �� N

��������������
��� ��
���� C′

9 �� C′
10 ��� �� ���� 
�$�� ���� � R�

C

C1

C2

O1 O2OA C B

D

M

N
C′
9

O′
9

C′
10

O′
10

����
�������

�� �  AD × CM = CA × CD� ���!  

CM =
CA × CD

AD
=

2a
√

b√
a + b

"�� �		�������� �� �#������ �� "��#�
��� �� �����
�� MCD ������
�� �� M � �� �  

DM2 = CD2 − CM2 = 4ab − 4a2b

a + b
=

4ab2

a + b

���!  DM =
2b
√

a√
a + b

�

<� ������ HM �� 	��0������ ���#�
����� �� M 
�� (CD)� �� �� 	�� �		�������� �� �#������ �� 7#���
  

MHM

AC
=

DM

DA

����  MHM =
AC × DM

AD
=

2ab

a + b
= 2R�

�� �� ������ ��� �� ������ C′
9 � 	��� �����

MHM

2
= R�

����	��

��� �� R ����� 
��������� �� a �� b� �� �� ������ ��� �� ������ C′
10 � �
������� 	��� ����� R�

��������

����������
 ���+� 
 ������ C′
11 �� ��
� ����� ��
��� ������� ��
 C �� ������� � (MN)# �� C′

12 �� ��
� �
���
��
��� ������� � (MN) �� C�
��� ��
���� C′

11 �� C′
12 ��� �� ���� 
�$�� ���� � R�

C

C1

C2

O1 O2OA C B

M

N

C′
11

O′
11

C′
12

O′
12

����
�������

���� O′

11 �� 	���� �������
������ ��
 ������
 (MO2) �� (NO1)�



��� ����� �� ��	
����
 =C

C

C1

C2

O1 O2O
A

C
B

M

N

U

VC′
11

O′
11

C′
12

O′
12

T
S

D

T ′

.���� MO1 = a� NO2 = b ��
CO1

CO2
=

a

b
� �� �� ������ ��� ��
 ������
 (MO1), (NO2) �� (CO′

11) 
��� 	�����

����
� <� 	����������� ��
 ������
 (CO′
11) �� (MN) 
��� 	��	�����������
� 6����
 S ���� 	���� �������
�������

�� ����� �� ������ C′
11 �
� ���� CO′

11 ��� �
� �
�� % R =
ab

a + b
���	��
 �� �#������ �� 7#���
�

���	��
 �� 	��	�
����� ��4� �� ������ C′
12 �
� ���
��� % C �� D 	��
��� D �
� �� ������ �� ����� ��;�� 	�� ��


	����
 U �� V �
���� T �� ������ �� 
�
���� [UV ]� O′

12 �
� ���������� �� ������ �� 
�
���� [TD]�
%
����
� �������
������  O �� C ����� 
���������
 	�� ��		��� �� ������ �� 
�
���� [O1O2]� �� �  

OT + CS = MO1 + NO2 = a + b

���!

TD = OD − OT = OD + CS − (a + b) =
2ab

a + b

"�� 
����� �� ����� �� ������ C′
10 �
� �
�� %

CT

2
=

ab

a + b
= R�

&�
'���� �������
������  ������ T ′ �� 
��������� �� D 	�� ��		��� % O �� i ����+��
��� �� 	-�� D �� ��
	��

���� DT × DT ′� T ′ �
� ���� ����+��
� �� T �
����+��
� �� C′

12 �
� �� 	��	����������� % (DT ) 	�

��� 	�� T ′� ��������� ��� �� ���
���� % C �� T ′ * ����+��
�
�� C �
� �� 	��	����������� % (DT ) 	�

��� 	�� T � ��������� ��� �� ������ (UV )�
��
 	����
 U �� V �		���������� % C �� % (UV )� ��
 
��� ���� ��+������
 	�� i� ,��
�  

DT × DT ′ = DU2

.���� DU = DC 9	��	�
����� ��4:� �� +����  

DT =
DC2

DT ′ =
4ab

2(a + b)
=

2ab

a + b

�� �� ������ ��� �� ������ C′
12 � 	��� �����

DT

2
= R�

��������

����������
 ���)� 
 ������ Cm �� �������
��� �� ������
� [O1O2]# O′
13 �� ����� �	����
������� �� Cm �� C1#

O′
14 ���
� �� Cm �� C2�
��� ��
���� C′

13 �� C′
14 ����
�� �� O′

13 �� O′
14 
������������� �� �������� � (CD) ��� �� ���� 
�$�� ���� � R�



��� ����� �� ��	
����
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A C B

D

O1 O O2

C

C1

C2

Cm

I

C′
13

O′
13

C′
14

O′
14

����
�������

������ I �� ������ �� 
�
���� [O1O2]� H13 �� 	��0������ ���#�
����� �� O′

13 
�� (AB) �� ρ �� ����� �� ������
C′
13�

"�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 O1H13O
′
13 �� IH13O

′
13 ������
��
 �� H13� �� �  

O′
13H

2
13 = O′

13O
2
1 − H13O

2
1 = O′

13I
2 − H13I

2


���  

a2 − (a − ρ)2 =
(

a + b

2

)2

−
(

ρ − a − b

2

)2

�� +����  ρ =
ab

a + b
= R�

����	��

��� �� R ����� 
��������� �� a �� b� �� �� ������ ��� �� ������ C′
14 � �
������� 	��� ����� R�

��������

����������
 ���(� 
 �� ��
��� C′
15 ������� � C �� Cm �� ���� �� ����
� O′

15 ����
����� �
 ������� [CD] �

� 
�$�� ���� � R�

A C B

D

O1 O O2

C

C1

C2

Cm

I

C′
15 O′

15

����
�������

���� ρ �� ����� �� ������ C′

15�
"�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 OCO′

15 �� ICO′
15 ������
��
 �� C� �� �  

O′
15C

2 = O′
15O

2 − CO2 = O′
15I

2 − CI2


���  

(a + b − ρ)2 − (a − b)2 =
(

a + b

2
+ ρ

)2

−
(

a − b

2

)2

�� +���� ρ =
ab

a + b
= R�

��������

����������
 ���	,� 
 ���� CX �� ��
��� ������� � C1 �� C2 �� ���� �� ����
� X ����
����� � Cm�
�� ��
� ����� ��
��� C′

16 ������� ��
 X �� ������� � (AB) � 
� 
�$�� ���� � R�



��� ����� �� ��	
����
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A C B

D

O1 O O2

C

C1

C2

Cm

I

C′
16 O′

16

CX
X

����
�������

���� rX �� ����� �� ������ CX �
"�� �		�������� �� �#������ �� "��#�
��� �� �����
�� XO1O2 ������
�� �� X� �� �  

O1O
2
2 = O1X

2 + O2X
2


���  

(a + b)2 = (a + rX)2 + (b + rX)2

"�� 
����� rX �
� �� 
������� 	�
���+� �� ����������  x2 + (a + b)x − ab = 0� ���!  

rX =

√
a2 + 6ab + b2 − (a + b)

2
���� HX �� 	��0������ ���#�
����� �� X 
�� (AB)�
<� �		������� �� �#������ �� "��#�
��� ��� �����
��
 O1HXX �� O2HXX ������
��
 �� HX � �� �  

HXX2 = O1X
2 − O1H

2
X = O2X

2 − O2H
2
X

.���� HX �		������� �� 
�
���� [IO2] 9	��
����� � 
�		�
� a � b:� �� +����  

O1X
2 − (O1I + IHX)2 = O2X

2 − (O2I − IHX)2


���  

IHX =
O1X

2 − O2X
2

2(O1I + IO2)
=

(a + b + 2rX)(a − b)
2(a + b)

"�� �		�������� �� �#������ �� "��#�
��� �� �����
�� IHXX ������
�� �� HX � �� �  

HXX2 = IX2 − IH2
X


���  

HXX2 =
(

a + b

2

)2

−
(

(a + b + 2rX)(a − b)
2(a + b)

)2

=
4a2b2

(a + b)2

����  HXX =
2ab

a + b
= 2R�

�� �� ������ ��� �� ����� �� ������ C′
14 �
� �
�� %

HXX

2
= R�

��������

����������
 ���		� 
 ������ A′ �� B′ ��� ������ �	����
�������� �� C ���� ��� ��
���� C(A, 2a) �� C(B, 2b)

�������������� ������ C′

17 �� C′
18 ��� ��
� ������ ��
���� ������� ��
 A′ �� B′ 
������������� �� �������� �

(CD)�
��� ��
���� C′

17 �� C′
18 ��� �� ���� 
�$�� ���� � R

A C B

D

O1 O O2

C

C1

C2

A′

B′C′
17

O′
17

C′
18

O′
18



��� ����� �� ��	
����
 =)

����
�������

���� HA′ �� 	��0��� ���#�
���� �� A′ 
�� �� ������ (AB)� 6����
 ρ �� ����� �� ������ C′

17�
"�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 AHA′A′ �� OHA′A′ ������
��
 �� HA′ � �� �  

A′H2
A′ = AA′2 − AH2

A′ = OA′2 − OH2
A′


���  

(4a)2 − (2a − 2ρ)2 = (a + b)2 − (2ρ − (a − b))2

�� +���� ����
 ρ =
ab

a + b
= R�

����	��

��� �� R ����� 
��������� �� a �� b� �� �� ������ ��� �� ������ C′
18 � �
������� 	��� ����� R�

��������

����������
 �������  � -"���� .�"��" ' 	(+)� ���	�� 
 �� ��
��� CS ����
�� �
 �
������ �

�������
��-�� ��
 ��� ��
���� C, C(A, 2a) �� C(b, 2b) � 
� 
�$�� ���� � R�

A C BO1 O O2

CS

OS

����
�������

%
����
� �������
������  ������ OS �� ������ �� ������ CS �� ρ 
�� ������ [OOS ] ����� �� ������� �

�� ��
OS ���
 �� �����
�� ABOS � �� �  

AO2
S + BO2

S = 2OO2
S + 2OA2


���  

(2a + ρ)2 + (2b + ρ)2 = 2(a + b − ρ)2 + 2(a + b)2

�� +���� ����
 ρ =
ab

a + b
= R�

&�
'���� �������
������  ���� i ����+��
��� �� 	-�� C �� �� 	��

���� CD2 = 4ab�
����+��
� �� ������ C(A, 2a) �
� �� 	��	����������� dA1 % (AB) 	�

��� 	�� A1 �! A1 ∈ [CA) �
� ��� ���

CA1 =
CD2

2CA
= b�

�� ����� ����+��
� �� ������ C(B, 2b) �
� �� 	��	����������� dB1 % (AB) 	�

��� 	�� B1 �! B1 ∈ [CB) �
� ���

��� CB1 =
CD2

2CB
= a�

����+��
� Ci �� ������ C �
� �� ������ �� �������� [AiBi] �! Ai = i(A) �� Bi = i(B) +���;���  

Ai ∈ [CA) CAi =
CD2

CA
= 2b

Bi ∈ [CB) CBi =
CD2

CB
= 2a

�� �� ������ ��� Ci �
� �� 
��������� �� C 	�� ��		��� % C� <� 	����������� Ci �� C ��� �� ���� ������

,��
�� i(CS) �
� �� ������ ���
��� % dA1 , dB1 �� Ci� ��� ����� ρ �
� �
�� %
A1B1

2
=

a + b

2
�

6����
 Oi �� OSi ��
 ������
 �� Ci �� i(CS) ��
	����+������



��� ����� �� ��	
����
 =/

A C BO1 O O2

C

C1

C2

CS

OS

D

dA1 dB1

A1 B1Ai Bi

Ci

Oi

i(CS)

OSi

.���� CA1 = OiB1 = b� OSi �		������� % �� ���������� �� 
�
���� [COi]�
�� �� ������ ��� C �� Oi ��� �� ���� 	��

���� µ 	�� ��		��� �� ������ i(CS)�

.���� OSiC = OSiOi = a + b + ρ =
3
2
(a + b)� �� +����  

µ = OSiC
2 − ρ2 =

(
3
2
(a + b)

)2

−
(

a + b

2

)2

= 2(a + b)2

�� CS �
� �����
� �� i(CS) 	�� ��#����#���� �� ������ C �� �� ��		���
CD2

µ
�

�� �� ������ ��� �� ����� �� ������ CS �
� �
�� %
CD2

µ
· ρ =

4ab

2(a + b)2
· a + b

2
=

ab

a + b
= R�

��������

$���� ���	�� 
 ������ (C ′D′) �� ��
������
���
� � (AB) ������� ��
 OS ���� C ′ ∈ [AB] �� D′ ∈ C�

A C BO1 O O2

CS

OS

C ′

D′

�� � �

CC ′ = R
|a − b|
a + b

=
ab|a − b|
(a + b)2

C ′D′ =

√
ab(2a2 + 5ab + b2)(2b2 + 5ab + a2)

(a + b)2

����
�������

C ′ �		������� �� 
�
���� [CO2] 9	��
����� � 
�		�
� a � b:�
"�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 AOSC ′ �� OOSC ′ ������
��
 �� C ′� �� �  

C ′O2
S = OSA2 − C ′A2 = OSO2 − C ′O2


���  

(2a + R)2 − (2a + CC ′)2 = (a + b − R)2 − (a − b + CC ′)2



��� ����� �� ��	
����
 =4

.���� R =
ab

a + b
� �� +����  CC ′ =

ab(a − b)
(a + b)2

= R
a − b

a + b
�

<� 
�		�
��� a � b� �� ������ �����
�� ���������� % CC ′ =
ab(b − a)
(a + b)2

= R
b − a

a + b
�

,��
�  CC ′ = R
|a − b|
a + b

=
ab|a − b|
(a + b)2

�

��		�
��
 ���0���
 a � b� "�� �		�������� �� �#������ �� "��#�
��� ���
 �� �����
�� ������
�� OC ′D′� ��
�  

C ′D′2 = D′O2 − C ′O2 = D′O2 + (OC + CC ′)2


���  

C ′D′2 = (a + b)2 −
(

a − b +
ab(a − b)
(a + b)2

)2

=
ab(2a2 + 5ab + b2)(2b2 + 5ab + a2)

(a + b)4

���!  C ′D′ =

√
ab(2a2 + 5ab + b2)(2b2 + 5ab + a2)

(a + b)2
�

.���� ��	��

��� ����� 
��������� �� a �� b� �� ���������� �� ���� ��
����� �� 
�		�
��� a � b�
��������

��/
����
 ���	�� 
 �� �
���� (C ′D′) ��� ������� ����� �� ������ . �� �� ���� LS�

����������
 ��������  � ����� 0��� ���	�� 
 ������ k ∈ R∗
+# AW ∈ [CA) �� BW ∈ [CB) ���� �
�

AW C = ka �� BW C = kb�
�� ��
��� CW ������� � C(AW , ka) �� C(BW , kb) �� ���� �� ����
� OW ����
����� � �� ����� �� ������ LS �
��

 
�$�� R�

A C BO1 O O2

CW

OW

C ′

D′

AW BW

����
�������

���� ρ �� ����� �� ������ CW � C ′ �
� �� 	��0��� ���#�
���� �� OW 
�� (AB)�
"�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 AW C ′OW �� BW C ′OW ������
��
 �� C ′� �� �  

C ′O2
W = AW O2

W − C ′A2
W = BW O2

W − C ′B2
W


��� 9	��
����� � 
�		�
� a � b:  

(ka + ρ)2 − (ka + CC ′)2 = (kb + ρ)2 − (kb − CC ′)2

���!  ρ = CC ′ a + b

a − b
= R�

��������

����������
 ���	*� 
 �� ��
��� �� /�� ������� � C ����� ��
 �� ����� D�



��� ����� �� ��	
����
 =8

A C

D

BO1 O O2

CW

OW

C

C ′

LS

����
�������

������ D1 �� 	���� �������
������ �� (OOW ) �� C� �� HD1 
� 	��0������ ���#�
����� 
�� (AB)�
���	��
 �� �#������ �� 7#���
� �� �  

OD1

OOW
=

OHD1

OC ′


��� 9	��
����� � 
�		�
� a � b:  

OHD1 =
OD1 × OC ′

OOW
=

(a + b)
(

a − b + R
a − b

a + b

)
a + b + R

= a − b

,��
� OHD1 = OC �� 
���� ��� D1 = D�
,�������� ���� �� ������ �� D�� �
� ���
��� % C �� D�

��������

����������
 ���	+� 
 �� ��
� ����� ��
��� C′
19 ������� � CS �� ������� ��
 C � 
� 
�$�� ���� � R�

A C BO1 O O2

CS

OS

C′
19

O′
19

C ′

D′

����
�������

%
����
� �������
������  "�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 CC ′OS �� AC ′OS

������
��
 �� C ′� �� �  

CO2
S = C ′C2 + C ′O2

S = C ′C2 + OSA2 − C ′A2


��� 9	��
����� � 
�		�
� a � b:  

CO2
S =

(
R

a − b

a + b

)2

+ (2a + R)2 −
(

2a + R
a − b

a + b

)2

.���� R =
ab

a + b
� �� +����  COS = 3

ab

a + b
= 3R�

�� �
� ����
 ����� ��� �� ����� �� ������ C′
19 �
� �
�� % R�

&�
'���� �������
������  E�	�����
 ��
 ��������
 �� �� �������� �����
������� �� �� 	��	�
����� ���==�
������ T �� 	���� �� ���
���� �� CS �� C′

19� �� Ti 
�� ��+��
�� Ti �		������� % ����� �� ������ �� ��������� 	�

��
 	����
 �� ���
���� �� i(CS) �+�� dA1 , dB1 �� Ci�



��� ����� �� ��	
����
 =>

A C BO1 O O2

C

C1

C2

CS

OS

C′
19

D

dA1 dB1

A1 B1Ai Bi

Ci

Oi

i(CS)

OSi

Ti

T

�� �  

CTi = COSi + OSiTi =
3
2
(a + b) +

1
2
(a + b) = 2(a + b)

�� CT × CTi = CD2� ����  

CT =
CD2

CTi
=

4ab

2(a + b)
=

2ab

a + b

�� �� ������ ��� �� ����� �� ������ C′
19 �
� �
�� %

CT

2
= R�

��������

����������
 ���	)� 
 �� ��
��� C′
20 ������� � C1 �� C2 �� ���� �� ����
� O′

20 ����
����� � �� ����� �� ������
LS � 
� 
�$�� ���� � R�

A C BO1 O O2

C′
20

O′
20

C ′

D′

����
�������

���� ρ �� ����� �� ������ C′

20�
"�� �		�������� �� �#������ �� "��#�
��� ���
 ��
 �����
��
 ������
��
 O1C

′O′
20 �� O2C

′O′
20� �� �  

O′
20C

′2 = O′
20O

2
1 − C ′O1 = O′

20O
2
2 − C ′O2

2


��� 9	��
����� � 
�		�
� a � b:  

(a + ρ)2 − (a + CC ′)2 = (b + ρ)2 − (b − CC ′)2

.���� CC ′ = R
a − b

a + b
� �� +����  ρ = R�

��������

����������
 ���	(� 
 ���� Q �� ����� �	����
������� �� Cm �� �� �� ����� �� ������ LS�
������ C′

21 �� ��
� ����� ��
��� ������� � Cm ������� ��
 D′ �� C′
22 �� ��
��� ��
�����
�� �
 �
������ CC ′Q�

��� ��
���� C′
21 �� C′

22 ��� �� ���� 
�$�� ���� � R�



��� ����� �� ��	
����
 =?

A C BO1 O O2

C

C1

C2

Cm

I C ′

D′

Q

C′
21 O′

21

C′
22

O′
22

����
�������

"�� �		�������� �� �#������ �� "��#�
��� ���
 �� �����
�� IC ′D′ ������
�� �� C ′� �� �  

ID′2 = IC ′2 + D′C ′2 = (IC + CC ′)2 + C ′D′2


��� 9	��
����� � 
�		�
� a � b:  

ID′2 =
(

a − b

2
+

ab(a − b)
(a + b)2

)2

+

(√
ab(2a2 + 5ab + b2)(2b2 + 5ab + a2)

(a + b)2

)2

�� +����  ID′ =
a2 + 6ab + b2

2(a + b)
�

�� ρ ��
�
�� �� ����� �� ������ C′
21� �� +����  

ρ =
1
2

(
ID′ − a + b

2

)
=

1
2

(
a2 + 6ab + b2

2(a + b)
− a + b

2

)
=

ab

a + b
= R

"�� �		�������� �� �#������ �� "��#�
��� ���
 �� �����
�� IC ′E ������
�� �� C ′� �� �  

C ′E2 = IE2 − IC ′2 = IE2 − (IC + CC ′)2


���  

C ′E2 =
(

a + b

2

)2

−
(

a − b

2
+

ab(a − b)
(a + b)2

)2

=
a2b2(3a2 + 10ab + 3b2)

(a + b)4

<� �		������� �� �#������ �� "��#�
��� ���
 �� �����
�� ������
�� CC ′E� �� �  

CE2 = C ′C2 + C ′E2


���  

CE2 =
(

ab(a − b)
(a + b)2

)2

+
a2b2(3a2 + 10ab + 3b2)

(a + b)4
=

4a2b2

(a + b)2

"�� 
����� �� ����� �� ������ C′
22 �
� �
�� %

CE

2
= R�

��������

����������
 ����,� 
 0������
��� ��
' �
����� �����

��� � ��
��
 �� C1 �� C2 �� ���������� � �	�
����� ��
����
��
��� ��
���� C′

23 �� C′
24 ������� ��
 C ��� ��
' �
����� ����� �����

��� ��� �� ���� 
�$�� ���� � R�

&� ��
�# ��� 
��������� �����

��� � ��
��
 ��� �����
' �� ����
� �
� ��� �
����� ���� ���������� ���� 
��
���������� ���� �� ����
� L ����
����� � �� ����� �� ������ LS�
1�-�# �� ��
��� C′

25 �� ����
� L ������� ��
 C ′ � ��

 
�$�� R�

A C BO1 O O2

C
C1

C2

C ′

D′

L

C′
25

P1

P2

C1 C2

P3

P5 P4

P6

C′
23 C′

24



��� ����� �� ��	
����
 =B

����
�������

��
 ������
 �� ��������
 [CC1] �� [CC2] ��� ���������� 	��� ����� R�

�� ������
�� P1P3C1P5 9��
	� P2P4C2P6: � 	��� �����
���

√
2ab

a + b
��

√
2ab

a + b
9��
	�

√
2ab

a + b
��

√
2b2

a + b
:�

.�
 ���� ������
��
 
��� ���� 
��������
 	�� ��� 
��������� �� ��		���
b

a
�

��
 ���
���������
 �� 	��������
�� �������� ��� ��
 ���� ������
��
 
��� #����#������
�

���� L �� ������ �� ��#����#���� �� ��		��� − b

a
�

6����
 HL �� 	��0��� ���#�
���� �� L 
�� (AB)�
�� �  ⎧⎪⎨

⎪⎩
C1HL + HLO2 = C1O2 = C1C + CO2 =

2ab

a + b
+ b =

b(3a + b)
a + b

HLC1

HLO2
=

LC1

LP2
=

a

b

�� +����  C1HL =
ab(3a + b)
(a + b)2

�

����  

CHL = C1HL − CC1 =
ab(3a + b)
(a + b)2

− 2ab

a + b
=

ab(a − b)
(a + b)2

= R
a − b

a + b
= CC ′

5���������� HL = C ′ �� 
���� ��� L �		������� % �� ��
�� �� ��#��# LS �
��������

����������
 ����	� 
 �� �
���� (CD) ��� 
�� �������� ����
�� �
' ��
���� C′
1 �� C′

24 +
���� C′
2 �� C′

23,�
�� ������� �������� T1 +
���� T ′

2 , ����
�� � C′
1 �� C′

24 +
���� C′
2 �� C′

23, ����� ��
 �� ����� B +
���� ��
 ��
����� A,�

A C B

D

O1 O O2

C′
1

O′
1

C′
2

O′
2

C′
23 C′

24

O′
23 O′

24

T1

T2

����
�������

.��
������
 �� ���
���� T % C1 	�

��� 	�� B� 6����
 HO1 �� HO′

24
��
 	��0���
 ���#�
����� �� O1 �� O′

24


�� T �
"�� �		�������� �� �#������ �� 7#���
� �� �  

O′
24HO′

24

O1HO1

=
BO′

24

BO1

���!  

O′
24HO′

24
=

O1HO1 × BO′
24

BO1
=

a(2b − R)
a + 2b

= R

�� �� ������ ��� T �
� �
������� ���
���� % C′
24 9�� HO′

24
:�

���� I �� 	���� �������
������ �� T �� (CD)� �� �  IC = IHO1 = IHO′
24

�
�� 
���
��� ��� �� 
��������� �� ������ C′

24 	�� ��		��� % I �
� �� ������ �� ����� R ���
��� % C1 �� (CD) * ��

��
�� ���� �� C′

1�
5��������� ��
 ���
����
 T �� T1 
��� ���������
�
�� 	���+����� �� ���� ��� T2 �
� ���
���� % C2 �� 	�

� 	�� A�

��������



��� ����� �� ��	
����
 $C

���� ������ 
����
� � ��	������

����������
 ����	� 
 �� ��
��� C′ ����
�� � �	�
�����# ������� � C, C1 �� C2# � ��

 
�$�� r ����

r =
ab(a + b)

a2 + ab + b2

A C BO1 O O2

C′

O′

����
�������

%
����
� �������
������  ������ O′ �� ������ �� C′ �� HO′ 
� 	��0������ ���#�
����� 
�� (AB)�
HO′ �		������� �� 
�
���� [OO2] 9	��
����� � 
�		�
� a � b:�
"�� �		�������� �� �#������ �� "��#�
��� ��� �����
��
 OO′HO′ , O1O

′HO′ �� O2O
′HO′ ������
��
 �� HO′ �

�� �  ⎧⎨
⎩

O′O2 = O′H2
O′ + OH2

O′

O′O2
1 = O′H2

O′ + O1H
2
O′

O′O2
2 = O′H2

O′ + O2H
2
O′


���  ⎧⎨
⎩

(a + b − r)2 = O′H2 + OH2
O′

(a + r)2 = O′H2
O′ + (b + OHO′)2

(b + r)2 = O′H2
O′ + (a − OHO′)2

����� 	���� �� � bOHO′ = 2ar − b2 − ab + br ���	��
 ��
 ���� 	�������
 �
�����
�
������� 	���� �� � aOHO′ = a2 + ab − ar − 2br ���	��
 ��
 	������� �� ����
���� �
�����
�

�� +���� ����
 r =
ab(a + b)

a2 + ab + b2
�

&�
'���� �������
������  .��
������
 ����+��
��� i �� 	-�� A �� �� 	��

���� AB2� �� 	���� B �
� ��+������
	�� i� ���� C ′ ����+��
� �� C 	�� i�
����+��
� �� C2 �
� �� ������ i(C2) �� �������� [BC ′]�
����+��
� �� ������ C1 �
� �� 	��	����������� dC′ % (AB) 	�

��� 	�� C ′ * ����+��
� �� ������ C �
� �� 	��	���
��������� dB % (AB) 	�

��� 	�� B�
"�� 
����� ����+��
� C′

i �� ������ C′ �
� �� ������ ���
��� % i(C2), dB �� dC′ �

C

C1

C2

A C BO1 O O2

C′

O′

C ′

dB dC′

C′
i

O′
i

i(C2)



��� ����� �� ��	
����
 $=

�� �  

BC ′ = AB2 × BC

AB × AC
= (2(a + b))2 × 2b

2(a + b) · 2a
=

2b(a + b)
a

,��
�� �� ����� ρ �� ������ C′
i �
� �
�� %

b(a + b)
a

�

���� O′
i �� ������ �� ������ C′

i� �� 	��

���� µ �� A 	�� ��		��� �� ������ C′
i �
� �
��� %  

µ = O′
iA

2 − ρ2 = (2(a + b) + ρ)2 + (2ρ)2 − ρ2 = (2a + 2b + ρ)2 + 3ρ2

�� C′ �
� �����
� �� C′
i 	�� ��#����#���� �� ������ A �� �� ��		���

AB2

µ
�

�� �� ������ ��� �� ����� r �� ������ C′ �
� �
�� % r =
AB2

µ
· ρ =

4(a + b)2ρ
(2a + 2b + ρ)2 + 3ρ2

=
ab(a + b)

a2 + ab + b2
�

��������

����������
 �������  � $��
 1�
%�2 ' 	(�,� ������ 
 �� �� ��
��� C′ = C(O′, r) ����
�� � �	�
����� ���
������� � C1 �� C2 �� X �� Y 
�������������# ���
� �� ��
��� CB ��
�����
�� �
 �
������ CXY � ��

 
�$�� R�

A C BO1 O O2

C′

O′

X Y

CB

����
�������

%
����
� �������
������  �� ������ ������
���� % CXY �
� ���������� �� ������ ��
���� % O1O2O

′ ���

O1C = O1X = a O2C = O2Y = b O′X = O′Y = r =
ab(a + b)

a2 + ab + b2

�� �����	�������� �� �����
�� O1O2O
′ �
� �
�� % a + b +

ab(a + b)
a2 + ab + b2

=
(a + b)3

a2 + ab + b2
�

�� ������� �� F���� �����  

A(O1O2O
′) =

√
(a + b)3

a2 + ab + b2
· ab(a + b)
a2 + ab + b2

· a · b =
ab(a + b)2

a2 + ab + b2

"�� �������
� 
� ρ ��
�
�� �� ����� �� ������ ��
���� % O1O2O
′� �� �  

A(O1O2O
′) = ρ

(a + b)3

a2 + ab + b2

�� +���� ����
 ρ =
ab

a + b
= R�

&�
'���� �������
������  E�	�����
 ��
 ��������
 �� �� �������� �����
������� �� �� 	��	�
����� ����=
�� ���
������
 ����+��
��� i �� 	-�� A �� �� 	��

���� AB2�



��� ����� �� ��	
����
 $$

C

C1

C2

A C BO1 O O2

C′

O′

X Y

CB

C ′

i(X)

i(Y )
OBi

CBi

C′
i

i(C2)

dB dC′

����+��
� CBi �� CB �
� �� ������ 	�

��� 	�� ��
 	����
 C ′, i(X) �� i(Y ) 9��
 ���� �������
 	����
 �����
�
������� ��
 	����
 �� ������� �� C′

i �+�� dC′ �� i(C2) ��
	����+�����:� �� ����� �� �� ������ �
� ���� �
��

% ρ =
b(a + b)

a
���	��
 �� �������� �����
������� �� �� 	��	�
����� ����=�

���� OBi �� ������ �� ������ CBi� �� 	��

���� µ �� A 	�� ��		��� �� ������ CBi �
� �
��� %  

µ = AO2
Bi − ρ2 = C ′A2 + C ′O2

Bi − ρ2 = (2(a + b) + 2ρ)2 + ρ2 − ρ2 = 4(a + b + ρ)2

�� CB �
� �����
� �� CBi 	�� ��#����#���� �� ������ A �� �� ��		���
AB2

µ
�

�� �� ������ ��� �� ����� �� ������ CB �
� �
�� %
AB2

µ
· ρ =

4(a + b)2ρ
4(a + b + ρ)2

=
ab

a + b
= R�

��������

�����#�� ��
��������
  � ������ �
�����
���� P1 9��
	� P2: �� 	���� �������
������ �� C1 9��
	� C2: �+�� �� 	��	����������� % (AB) 	�

��� 	�� O1 9��
	�
O2:�

�� 	���� �������
������ K ��
 ������
 (O1P2) �� (O2P1) +���;� CK =
ab

a + b
���	��
 �� �#������ �� 7#���
�

�� ������ �� ������ K 	�

��� 	�� C ���	� ��
 ������
 C1 �� C2 �� X �� Y ��
	����+������
O′ �
� ����
 �� 	���� �������
������ ��
 ������
 (O1X) �� (O2Y )�

A C BO1 O O2

C′

O′

K

P1

P2X Y

����������
 ������ 
 ������ P1 �� P2 ��� ������ �	����
������� ��� �������
���� C1 �� C2 ���� ��� ��
������
�
���
�� � (AB) ������� ��
 O1 �� O2 
�������������� �� �� ��
��� ����
�� � �	�
����� ��� ������� �
' �������
����
C1, C2 �� C �� X,Y �� Z 
�������������# ���
� �
• ��� ������ A,C, Y �� Z ����
�������� � 
� ��
��� �� ����
� P1

• ��� ������ B,C,X �� Z ����
�������� � 
� ��
��� �� ����
� P2�

����
�������

������ dC �� dB ��
 	��	�����������
 % (AB) 	�

��� 	�� C �� B ��
	����+������ �� ���� P �� 	���� ��������

������ �� �� 	��	����������� % (AB) 	�

��� 	�� O �+�� C�



��� ����� �� ��	
����
 $)

C

C1

C2

A C BO1 O O2

D

X

Y

Z

P1

P2

P

dC dB

Z ′
X ′

�� � AB × AC = AD2�
.��
������
 ����+��
��� i1 �� 	-�� A �� �� 	��

���� AD2� ����+��
� �� B 	�� i �
� C �� �� ������ (AB) �
�
��+������� 	�� i�
��
 �����������
 C1 �� C ��� 	��� ��+��
�
 ��
	�����
 ��
 �����������
 [BX ′) �� [CD)�
G���� ���#�
���� % �� ������ (AB) ��+������� 	�� i1� �� ����������� C2 �
� �
������� ��+������ 	�� i1�
�� �� ������ ��� �� ������ ��
���� % ��������
� ��� �
� ������
���� % XY Z� � 	��� ��+��
� �� ������ ���
��� %
dC , dB �� C2 �� Z ′,X ′ �� P2 ��
	����+������
C2 ����� ��+������ 	�� i1� ��
 	����
 A, Y �� P2 
��� ���
��
�
�� ���� ��� ��
 	����
 B,P2, Z

′ �� P 
��� ���
��
 * ���
� ����+��
� �� �� ������ 	�

��� 	�� ��
 	����
 �
� ��
������ 	�

��� 	�� C, Y, Z �� A� <� 	����������� �� ������ �� �� ������ �		������� % �� ���������� �� 
�
����
[AC]�
�� 	��
� �� �������� 	�

��� 	�� A �
� 	��	����������� % (BP )� �� 
���
��� ��� P1 �
� �� ������ �� �������
,��
�� ��
 	����
 Y �� Z �		���������� �� ������ �� ������ P1 	�

��� 	�� A 9�� C:�
H� ���
�������� �����
�� �� ���
������� ����+��
��� i2 �� 	-�� B �� �� 	��

���� BD2 ������ ��� X �� Z
�		���������� �� ������ �� ������ P2 	�

��� 	�� B 9�� C:�

��������

3����4�� ������ 
 ��
 	����
 A, Y �� P2 ����� 	���� B,X �� P1 �I����� 	���� 
��� ���
��
 	��
���
i1(Y ) = P2 �� i2(X) = P1�

�����#�� ��
��������
  � ������ �
�����
,+�� ��
 ��������
 �� �� 	��	�
����� ����)� �� �  

A C BO1 O O2

X

Y

Z

P1

P2

-�����#�� ��
��������
  � ������ �
�����
�� �����
������� ������� ��� ����� ���
�������� �� ������ ��
����� �� �
� ��
� �� ���
������ �� ������ ���
��� %
dB , dC �� C2� ��� �
� ������
���� �� �����
�� X ′Z ′P2� ��
 	����
 X,Y �� Z 
��� ����
 ��
 	����
 �������
������
��
 ������
 (AX ′), (AZ ′) �� (AP2) �+�� C1, C �� C2 ��
	����+������

����������
 ������ 
 "��� ��� ��������� �� �� �
��������� 222�3# ��� �
����� (AY ), (BX) �� (CZ) ����
�����

����� �� 
� ����� S �
� ����
����� �
 ��
��� ����
�� � �	�
������

����
�������

��
 	����
 A, Y �� P2� ���
� ��� B,X �� P1� 
��� ���
��
 ���	��
 �� �������� ����/�
.��
������
 �� 	���� �������
������ S �� �� ������ (AP2) �+�� �� ������ ������
���� % XY Z�



��� ����� �� ��	
����
 $/

A C B

X
Y

Z

P1

P2

dC dB

S′

S

Z ′
X ′

����+��
� S′ �� S 	�� i1 �		������� % �� ������ (AS) �� �� ������ ������
���� % X ′Z ′P2�
"�� �������
  

ÂS′Z ′ = P̂2S′Z ′ = P̂2X ′Z ′ =
π

4
= ÂBZ ′

�� 
���� ��� ��
 	����
 A,Z ′, S′ �� B 
�� ����������
�
<� ���
������� ����+��
� 	�� i1 �� ������ ������ ��
 	����
 �		����������� �� ������� ��� S �		������� % ��
������ (CZ)�
"�� �� ���
�������� �����
�� �� ���
������� ����+��
��� i2� �� ���������� ��� ��
 ������
 (BX) �� (CZ) 
���

������
 �� ���� 	���� S�

��������

������#�� ��
��������
  � ������ �
�����
,+�� ��
 ��������
 �� �� 	��	�
����� ����4� �� �  

A C B

X
Y

Z

P1

P2
S

����������
 ����*� 
 "��� ��� ��������� �� �� �������
����� �� �� �
��������� 222�3# ���� M �� �$���
��
�
�� P ��
 
����
� � �� �
���� (AB)� "��
� �
• ��� ������ A,X, Y �� B ����
�������� � 
� ��
��� �� ����
� M .
• �� ����� Z ����
����� � �� �
���� (CM)�
����
�������

��
 	����
 C,P2 �� X ′ 
��� ���
��
� ����+��
� 	�� i1 �� �� ������ (CX ′) �
� �� ������ 	�

��� 	�� A,B, Y ��
X� <� 	����������� �� ������ �� �� ������ �		������� % �� ���������� �� 
�
���� [AB]�
�� 	��
� �� �������� 	�

��� 	�� A �
� 	��	����������� % (CP2)� �� 
���
��� ��� M �
� �� ������ �� �������
,��
�� X,Y �		���������� �� ������ �� ������ 	�

��� 	�� A 9�� B:�
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����
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A
C

B

X
Y

Z

P1

P2

dC dB

Z ′
X ′

M

M ′

���� M ′ �� 	���� �������
������ ��
 ������
 (AM) �� dC � .���� B̂AM ′ =
π

4
= B̂Z ′M ′� ��
 	����
 A,B,M ′

�� Z ′ 
��� ����������
� <� ���
������� ����+��
� 	�� i1 �� ������ ������ ��
 	����
 �		����������� �� �������
��� M �		������� % �� ������ (CZ)�

��������

��
4��#�� ��
��������
  � ������ �
�����
,+�� ��
 ��������
 �� �� 	��	�
����� ����8� �� �  

A
C

B

X
Y

Z

M

.���#�� ��
��������
  � ������ �
�����
,+�� ��
 ��������
 	���������
� ��
 ������
 ������
����
 % XY Z �� X ′Z ′P2 
��� ��+��
�
 ���� �� ������� 	�� i1
���
 �
������� #����#������
 	�� ��		��� �� 	-�� A�
<� 	����������� �� ������ �� ������ ��
���� �		������� % �� ������ 	�

��� 	�� A �� �� ������ �� 
�
���� [X ′Z ′]
9��� �
� �� �-�� �		�
� % [BC] 
�� �� ����� ���
����� �� ���� �-�� ��� ��������
:�
�� � ��� 	��	����� �����
�� �+�� �� ����� ���
����� 
�� �� 
�
���� [AC]�



��� ����� �� ��	
����
 $8

A C BO1 O O2

X Y

Z

O′

����������
 ����"��# �� ����+� 
 ������ E,F ∈ C′ ���� �
� [EF ] ��� 
� ������
� �� C′ ��
������ � ��
�
���� (AB)� ������ H �� G ��� �
�*���� �
�������
' �� E �� F 
������������� �

 (AB)�
"��
� ��� ����
�

� AG,GH �� HB ���� �� �
��
������ ������
��
� �� �� �
��
�����
� EFGH ��� 
� ��

��

A C BO1 O O2

C′

F E

G H

����
�������

������ X,Y �� Z ��
 	����
 �� ���
���� �� C′ �+�� C1, C2 �� C ��
	����+������
���	��
 �� ����� ���$� �� � �����
������ ��
 ���	���
 �� 	����
 
��+���
  

(A,F,Z) (B,E,Z) (A,X,E) (B, Y, F ) (C,X,F ) (C, Y,E)

�� ���
����� ��
 	����
 �������
������ 
��+���
  

I = (AZ) ∩ C1 J = (BZ) ∩ C2

K = (AX) ∩ (CI) L = (BY ) ∩ (CJ)
G = (FK) ∩ (AB) H = (EL) ∩ (AB)

A C BO1 O O2

X

Y

Z

C′

F E

G H

I

J
K L

K �
� �����#������� �� �����
�� ACF �� 
���� ��� ��
 ������
 (AB) �� (FG) 
��� 	��	�����������
�
�� ����� �� ���
������� �����#������� L �� �����
�� BCE� �� �� ������ ��� ��
 ������
 (EH) �� (AB) 
���
	��	�����������
�
"�� �������
� ��
 ������
 (CI) �� (BZ) 
��� 	��������
� �� ���� ��� (CJ) �� (AZ)� ����  

AC

CB
=

AK

KE
=

AG

GH
��

AC

CB
=

FL

LB
=

GH

HB

,��
�  
AG

GH
=

GH

HB
=

a

b
�

��
 ���
����
 AG,GH �� HB 
��� ���� �� 	��
��

��� 
�����������



��� ����� �� ��	
����
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�� �� ������ ����	��

��� �� ����� r �� C′� <� �J��� �� �  

AB = AG + GH + HB =
(

a

b
+ 1 +

b

a

)
GH

����  r =
EF

2
=

GH

2
=

ab(a + b)
a2 + ab + b2

�

�� +���� ����
  

AG =
a

b
GH =

a2(a + b)
a2 + ab + b2

�� BH =
b

a
GH =

b2(a + b)
a2 + ab + b2

��
 �����
��
 ������
��
 AGF �� EHB ����� 
��������
� �� �  

FG

AG
=

BH

EH


���  FG2 = AG × BH =
a2b2(a + b)2

(a2 + ab + b2)2
�

"�� 
����  EF = FG =
ab(a + b)

a2 + ab + b2
�

,��
� EFGH �
� �� ������
��������

����������
 ����)� 
 �� �
���� (CZ) ��� �� �������
��� ����
��

� �� �	����� ÂZB�

A C BO1 O O2

Z

����
�������

E�	�����
 ��
 ��������
 �� �� �����
������� �� �� 	��	�
����� ����) �� ���
������
 ����+��
��� i1 �� 	-�� A ��
�� 	��

���� AD2�
Z �� C ��� 	��� ��+��
�
 ��
	�����
 Z ′ �� B� ����  

ÂZC = ÂBZ ′ =
π

4

AZB ����� ������
�� �� Z� �� �� ������ ��� (CZ) �
� �� ��

������� ���������� �� ����
�� ÂZB�
��������

����������
 ����(� 
 ���� F �� ����� �
 ������� [CD] ��� �
� CF = 2R�
�� ��
��� �� ����
� F �� �� 
�$�� 2R ��� ������� � C �� Z�

C

C1

C2

A C BO1 O O2

D

X

Y

Z

C′

O′

F

����
�������

A������
 �����
������ ��
 	����
 O,F �� Z�
6����
 HO′ �� 	��0������ ���#�
����� �� O′ 
�� [AB]�

�� � CF = 2R =
2ab

a + b
�



��� ����� �� ��	
����
 $?

�� �����
������� �� �� 	��	�
����� ����= �������  

OHO′ = a + b − r − 2b

a
r =

(a − b)(a + b)2

a2 + ab + b2

"�� �		�������� �� �#������ �� "��#�
��� �� �����
�� OHO′O′ ������
�� �� HO′ � �� �  

O′H2
O′ = O′O2 − HO′O2 = (a + b − r)2 − (a − b)2(a + b)4

(a2 + ab + b2)2
=

4a2b2(a + b)2

(a2 + ab + b2)2

����  O′HO′ =
2ab(a + b)

a2 + ab + b2
�

�� +����  
CF

CO
=

2ab

(a + b)(a − b)
=

HO′O

HO′O′ �

�� �� ������ �����
������ ��
 	����
 O,F,O′ �� Z�
"�� �		�������� �� �#������ �� "��#�
��� �� �����
�� OCF ������
�� �� C� �� +����  

OF 2 = CO2 + CF 2 = (a − b)2 +
(

2ab

a + b

)2

=
(

a2 + b2

a + b

)2


���  OF =
a2 + b2

a + b
�

���!  FZ = OZ − OF = a + b − a2 + b2

a + b
=

2ab

a + b
= 2R�

"�� 
����� �� ������ C(F, 2R) �
� ���
��� % C �� Z�
��������

3����4�� ����	,� 
 �� 	���� F � ��� ��;�� ���
 �� 	��	�
����� ���4� ����� �� 	���� �������
������ ��

������
 (CD) �� (P1P2)�
"�� �������
� �� 	���� G �� ����� ���� 	��	����� ���
� ����� ��� �� 	���� Z�

��� ��	��� �� �	����

����������
 �5�	� 
 �� ���� C(0) = C2� �� �������
� �� ���4�� �� ��
���� (C(n))n∈N ����� �
� C(n+1) ���
������� � C, C1 �� C(n) ��

 n ∈ N�
�� ���� O(n) �� rn �� ����
� �� �� 
�$�� �
 ��
��� C(n)�
�� hn ������� �� �������� �� O(n) � �� �
���� (AB)# ���
� �

hn = 2nrn

A C BO1 O O2

C

C1

C(0) = C2

C(1)

O(1)C(2)

O(2)

C(3)

O(3)

����
�������

.��
������
 ����+��
��� i �� 	-�� A �� �� 	��

���� µn �! µn �
� �� 	��

���� �� A 	�� ��		��� �� ������ C(n)�
�� ������ C(n) �
� ����
 ��+������ 	�� i�
��
 ������
 C �� C1 ��� 	��� ��+��
�
 ��
 ������
 d1 �� d2 	��	�����������
 % (AB) �� ���
����
 % C(n)�
"�� 
����� 	��� 0 � j � n − 1� ����+��
� C(j)

i �� C(j) �
� �� ������ ���
��� % d1, d2 �� C(j+1)
i �



��� ����� �� ��	
����
 $B

A C BO1 O O2

C

C1

C(0)

C(1)

C(2)

C(3)

d1 d2

C(2)
i

C(1)
i

C(0)
i

n = 3

�� �
� ����
 ����� ��� ��
 ������
 C(0)
i , C(1)

i , . . . , C(n−1)
i �� C(n) ��� �� ���� ������

.���� �� ������ �� C(0)
i �		������� % �� ������ (AB)� �� �
� �������� ���  hn = 2nrn�

��������

����������
 �5��� 
 ��� ����
�� (O(n))n∈N ��� ��
���� C(n) ����
�������� � 
�� ������� �� 5�$�
� O1 ��
O2�

A C BO1 O O2

C

C1

C(0)

C(1)

O(1)C(2)

O(2)

C(3)

O(3)

����
�������

"��� ���� n ∈ N� �� �  

O1O
(n) + OO(n) = (a + rn) + (a + b − rn) = 2a + b

,��
� ��
 	����
 (O(n))n∈N �		���������� % ��� ����	
� �� �����
 O �� O1�
��������

����������
 �5��� 
 �� α =
AC

AB
=

a

a + b
# ���
�# ��

 ��
� n ∈ N# �� � �

rn = (a + b)
α(1 − α)

n2(1 − α)2 + α

����
�������

.��
������
 ����+��
��� i �� 	-�� A �� �� 	��

���� AB2� �� 	���� B �
� ��+������ 	�� i� ���� C ′ ����+��
� ��
C 	�� i�
����+��
� C(0)

i �� C(0) �
� �� ������ �� �������� [CB′]�
����+��
� �� ������ C1 �
� �� 	��	����������� dC′ % (AB) 	�

��� 	�� C ′ * ����+��
� �� ������ C �
� �� 	��	���
��������� dB % (AB) 	�

��� 	�� B�
"�� 
����� ����+��
� C(n)

i �� ������ C(n) �
� �� ������ ���
��� % dB , dC′ �� C(n−1)
i � �� 
���� ��� ��
 ������
 C(n)

i

��� ���
 �� ���� ������
�� �  

BC ′ = AB2 × BC

AB × AC
= (2(a + b))2 × 2b

2(a + b) · 2a
=

2b(a + b)
a

,��
�� �� ����� ρ ��
 ������
 C(n)
i �
� �
�� %

BC ′

2
=

b(a + b)
a

�

���� O
(n)
i �� ������ �� ������ C(n)

i � �� 	��

���� µn �� A 	�� ��		��� �� ������ C(n)
i �
� �
��� %  

µn = O
(n)
i A2 − ρ2 = (2(a + b) + ρ)2 + (2nρ)2 − ρ2 = 4(a + b)2 + 4(a + b)ρ + 4n2ρ2

�� C(n) �
� �����
� �� C(n)
i 	�� ��#����#���� �� ������ A �� �� ��		���

AB2

µn
�
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C ′

dB dC′

C(0)
i

C(1)
i

O
(1)
i

C(2)
i

O
(2)
i

�� �� ������ ��� �� ����� rn �� ������ C(n) �
� �
�� %  

rn =
AB2

µn
· ρ

=
4(a + b)2ρ

4(a + b)2 + 4(a + b)ρ + 4n2ρ2

= (a + b)
ab

n2b2 + a(a + b)

= (a + b)

ab

(a + b)2

n2

(
b

a + b

)2

+
a

a + b

= (a + b)
α(1 − α)

n2(1 − α)2 + α

��������

���������� �5��� 
 �� � �

hn = 2n(a + b)
α(1 − α)

n2(1 − α)2 + α

�6 α =
a

a + b
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